Total No. of printed pages = 9
4 (Sem-1) CAC M1

2018
COST ACCOUNTING
Paper : 1'5
(Accountancy Major)
Full Marks - 80
Pass Marks - 24

Time — Three hours

- The figures in the margin indicate full marks
for the questions.

1. Answer the following as directed : 1x10=10

(a) Material is the element of cost. (Fill
in the blank)

(b) A job is a small contract and a contract is
a big job. (State whether the statement is true

or false)

(c) Cost is a and price is a
@il in the blanks)

[Turn over



i it side ¢ (i) sheet is
(d) Abnormal gain appears on thie credit side of | (i)~ Wage sheet is p
., the. Process Account. (State whether thei A Pt
~ statement is true or false.) . %) LETHORAL
|
: w (ii) Pay-roll dep:
(¢) Which method of valuing materials is suitable 3 : A
in times .of rising prices ?, ‘ o iyt
() LIFO . (i) FIFO |

: (iv) None of the
(i) HIFO, ++ ... .. (iv) FILO i

i
|
5 *(Select ‘the most
\

(f) Cost Ledger Control Account always has 2

credit balance.(State whether the statement i () VED stands for _
true or false) ! C

2. | Answer jthe following
(8) The change in costs due to changes in the

‘method. of production is' known:as’ BE
(Fill in the. blank) ‘

(a) Wl;a.t__is meant b

' Ex | (b)'State the meaning
(1) Marginal 'cost 1ot el ‘| costing.

~ (i) Replacement cost (c) What is Inter-lock
(iii) D:ffgren_tnal cost (d) State two iinport

“(iv) Opportunity cost. oL - 905tifl$-
(h) Overhead is the aggregate of 4 " (¢) Whats meant by
and < (Fill, in the blanks)
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3 . | i note
3.. Answer any four of the following questions: | (e) Write short

5x4=20 | (EOQ)-
(a) State the essential pre-requisities of Integrated (f) A factory has ¢
Accounting System. employee takes
wages basis a
(b) The following infounanon relate to the plan. His day
manufacturing of a standard product dunng
April, 2017; ‘ Calculate his w
Raw materials : Rs. 20,000 under :
Direct labour : Rs. 10,000 1 (i) Piece work
Machine hour rate : Rs. § -4 (i) Halsey pla
Machine hours worked: 900 hours i (iii) Rowan pla
Admismtive overheads : 20% of works (2) Distinguish pew
cost ‘ over-absorptior
Selling overheads : Rs. 50 per ynit 5
Units produged ; 17,100 units 4. (a) How is profit

(©)
(d)

Units sold :
Sale price :

You are required to

brought into
16,000 units

Rs. 4 per unit. () Whats 1o eag)

Prepare statement of cpst
showing cost and profit per unit sold.

Product 'X' is 0

; ‘ distinct pri
Cost accounting vs Financia] accounting. o

State the needs for reco;
financial accounts,
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each were intro

nciliation of cost and no stock of ma
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5.

(a)

(b)
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the beginning or at.the end of the:period. The
output of each process passes diréct to next
process: and finally to finished stores. The
following' information is obtained from the
-accounts for the week’ ending

ool =uo 8 bie siced. songe

Process 1

Process II
Direct materials Rs. 2,600 Rs. 1.980 |
Direct wages Rs. 2,000 [-Rs. 3.000
Output durin ' its | ’
g g the 950 units {840 units
Normal losg 5% 10%
v 1 »Tee N u

P . '. . .' . ?
roduction overhead 1s recovered on 100 per

cent of di
of direct wages. Value of scrap per unit

s Rs.2 and Rs4 _

respectively. adg® B rocess I process II

Prepare Proc ;

Account, ess I Account and Process 11
" 10

What do you u

over ? m_iersmnd by Labour Turn- |

5
What are  the differe
turnover ? different costs of labO‘;r

®)

i

‘Md. Réhaman i$

"'Ltd. He'is pard by

emoluments :

.Basic wages: (m

Dearness allowa

Employer’s cont
10% of basic p:

E:S.I ‘contributio
pay and DA.

Cost of non-mo:
the employer =F

Number .of* worl

Normal working

' Normal idle tim

Compute the wa
purposes. The: te
used in the sam
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" 6. Explain what is meant by ‘maximum level".r‘
. mitimum_ levql’ and m—ordenpg leyel’ in the'
mamtenan

ce. pf stoc;t in, gn °:',~~ 1
Ol‘: HENH I AR

ioh, 10-

Fronk-‘the - fallowihg lnformnﬁori, -talulate thc '

va]ue of closmg stock using 10

LT

(1) FIFO baéls and

(n) LIFO bas:s ’- j: ‘

ié 'Openmgstoekas én 14.2017 50000 umts

-

§Sem)) CACML @

i Ratepmlmnappﬁcable Rs 7

TRt E A R T
- - )

y 0n2552017 119,0@@@3, 9perumf

On 15.32017 1,25 000 umts @ Rs. 8 per unit:

On 13122017, 5, 93,000 uml.s@Rs 1 per unif;
"on sazoxs : 65

Closmg‘-!twkascinS‘l 3‘.2018 151000 units:
‘ 10

i
<

.OOOUmts@Rsizperunﬁa/

7. (a) State the advants

(b) Discuss the vari

of overheads to

 During. the year

the factory over
tion departments

. under :

Y Rs. 89,200,

Z Rs. 64,500

* The bsis of absc

below . :

Departments :

X Rs.5 perma
Y 5% of direc
Z Rs.4 per pi

Calculate the def
tion or over-ab
present the data
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